Retrieval questions
	Write down:
a) A prime number in the 70s


b) The square number closest to 80.



c) A cube number between 50 and 100.





	There are four people in a group, Siobhan, Thomas, Velma and William
· William is 7 years younger than Velma
· Velma is twice as old as Thomas
· Siobhan is 13 years older than Thomas
· Altogether their ages add to 168 years.
Find each age:
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	250 car owners were asked if their car has a SAT-NAV and/or a reversing camera  
· 115 have a SAT NAV
· 78 have a reversing camera
· 114 have neither a SAT-NAV or reversing camera.
Find the probability that a person who has a SAT-NAV also has a reversing camera.




	a) Factorise fully: x2 + 13x + 36


b) Solve:

12x + 7 = 5x + 63

 








